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EHM3 EHM2 EHM1
1.0307E-04 -9.1923E-04 0.22381847
y=M3 * x3 + M2 * x2 + M1 * x
1BH 2HH 3HH
NOLRE NOLRE NOLRE
ppm ppm ppm

0.000 0.000 0.000
0.006 0.008 0.008
0.008 0.011 0.011
0.010 0.014 0.013
0.011 0.016 0.015
0.012 0.018 0.017
0.014 0.019 0.019
0.015 0.021 0.020
0.016 0.022 0.022
0.017 0.024 0.023
0.017 0.025 0.024
0.018 0.026 0.025
0.019 0.027 0.027
0.020 0.028 0.028
0.021 0.030 0.029
0.021 0.031 0.030
0.022 0.032 0.031
0.023 0.033 0.032
0.024 0.034 0.033
0.024 0.035 0.034
0.025 0.036 0.035
0.026 0.036 0.035
0.026 0.037 0.036
0.027 0.038 0.037
0.027 0.039 0.038
0.028 0.040 0.039
0.029 0.041 0.040
0.029 0.042 0.041
0.030 0.043 0.041
0.030 0.044 0.042
0.031 0.044 0.043
0.032 0.045 0.044
0.032 0.046 0.045
0.033 0.047 0.045
0.033 0.048 0.046
0.034 0.049 0.047
0.035 0.049 0.048
0.035 0.050 0.049
0.036 0.051 0.049
0.036 0.052 0.050
0.037 0.053 0.051
0.037 0.053 0.052
0.038 0.054 0.053
0.039 0.055 0.053
0.039 0.056 0.054
0.040 0.057 0.055
0.040 0.058 0.056
0.041 0.058 0.057
0.042 0.059 0.058
0.042 0.060 0.058
0.043 0.061 0.059

NO,EE

ug
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0.043
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0.045
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